[image: image1.png]D

Last Cluss
v, = &
wonye X

Vicsrantoncons = "Zr

= O
a =
dv J‘k

Cnstantomsons = JE 7 et

<

X,8,V, b > Kinemabic Variables
These Are NOT independid Venubles

. e vI 5
( c
S € {/.Z\\

a

A

Starced an Exangle

xer: Atent’
oY wiewee e
Mt ko

Vi 244 + 3¢+
Qlo: 24 + 6Bt





[image: image2.png]Eaegle

Sista op learneds pecmit

wd  Obwox isus brovhes with radar

P o

XE: gt e BLD

Wht boturs Yoo afT How egaa 7
Pukape A, B cue bathermone

CostauTs oo writhen as o vemlilp Syubol

Whit are ks o 4 ¢+ R

Fx o m Ass i 7S B M

Dictrcsiomed Anckysis
1AL

lets Sey XU s i faf  feowe




[image: image3.png]botlaced by et
e o Mater,

] for v 2 rsqon , tm oz 03w
TR T i men
factor lube( methal
- o z
A%:m%x%?:.g"{-.
BE =~ jfrx03n o o3 mys
o e T %
Foad awege veloiky | gomg, Accel  awy 45 irbesd
e (fom t:0)

Fid inst. posw, Vel Aecel

ey
X 36 -g¢

cunee|2

ar b:0,4,1,5,%

At gyt
e

¥ e 157 4 ctcomts

= 2ws
==z?2
P B
~ex
oAiectim




[image: image10.png]what dek v 7

“h A7

Xtz Ag-RE3

G.60000003 m

ERE XN RS ROV Ny

—_—

vadx = 246 - 3pe?
At
£
A=S* = 24 -4gE
Ar*
o yole
£ XY v o 1)
o o ° z
23 st 4.2
Z 1 5y 2a
3 s 45 %
4 Wy 46 -2
N Tdes say
Syibieak  Fjes
= av q.
a= & 46
ATy
Yaph  x st
v st

avs T



See accompanying ppt file for graphs
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